**PLEASE** be mindful of what you are purchasing and review your requisition carefully.



# Shelby County Schools Standard PC Offerings (September 2016)

Please read general information before entering a computer requisition

Please contact Information Technology to complete a Non-Standard Form if you do not select an item listed on this website.

The following information is required when completing a request for Desktop or Laptop

- Each computer line item description in APECS must include <u>Model Name</u> and <u>Equipment</u> <u>Description</u> (<u>highlighted in yellow</u>), or the requisition will be returned to the requestor.
- Installation and Microsoft Office must be purchased for each Desktop computer order.
- Installation, Computrace, and Microsoft Office must be purchased for each Laptop computer order
- In "Notes to vendor" please enter the point of contact for the request. Please include their name, email, and phone number for the vendors to schedule installation set up.

#### Additional Resources for Computer Assistance

How to Create a Computer Requisition Power point located on Procurement Site:

www.scsk12.org → Doing Business with SCS → Manager and Employee Resources → How to Create a Computer Req. → View

When ordering computer(s), you can list each item required for that order on one (1) requisition. Procurement Services will take the requisition and break down the order to the appropriate vendor(s). For vendor selection on APECS requisition, please select No Vendor. Vendor information is not required when ordering items against this price list.

For procurement questions please contact Wanda Albright at <u>albrightw@scsk12.org</u> or Deb Aleman at 416-5621 Equipment Recommendations please contact: Information Technology

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

**Desktop Small Factor Commodity Code204-53** 

 Option 1
 Option 2

 \$614.00
 \$685.00

 Teacher
 Admin

Recommended Recommended

Model Name, Number & Description	HP ProDesk 400 G3 SFF i-3, to include HP Elite Display E232 23", 4GB RAM, Intel i3-6100,W7P27UP#ABA/	HP ProDesk 400 G3 SFF i-5, to include HP Elite Display E232 23", 8GB RAM, Intel i5-6500, W7P29UP#ABA/
	Bundle #775759	Bundle# 775763
Operating System:	Windows 10 Home 64 upgradable through SCS Microsoft Agreement	Windows 10 Home 64 upgradable through SCS Microsoft Agreement
Processor:	Intel 6G Dual Core i3-6100 3.7Ghz 3MB Cache	Intel 6G Quad Core i5-6500 3.2Ghz 6MB Cache
Memory:	4GB DDR4-2133 DIMM (1x4GB)	8GB DDR4-2133DIMM (1x8GB )
Hard Drive:	500GB 7200 RPM	500GB 7200 RPM
Keyboard and Mouse:	USB Keyboard and Optical Mouse	USB Keyboard and Optical Mouse
Display:	HP Elite Display E232 23"	HP Elite Display E232 23"
Optical Drive:	SuperMulti Optical Disk Drive	SuperMulti Optical Disk Drive
Network:	Intel 10/100/1000, 802.11ac+BT	Intel 10/100/1000, 802.11ac+BT
Ports:	4 – USB 3.0 (rear)	4 – USB 3.0 (rear)
	4 – USB 2.0 (front)	4 – USB 2.0 (front)
Integrated Video:	Intel HD Graphics 530	Intel HD Graphics 530
Internal Integrated Audio:	High Definition Audio	High Definition Audio
Warranty & Service:	3/3/3 NBD	3/3/3 NBD

Items Must be Included with the Purchase of this Computer (Required by IT)

Installation Cost Per Desktop (Commodity Code 920-31)
Microsoft Office for Windows (Commodity Code 208-80)

\$48.60 \$0.00

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

# Desktop – All IN ONE

**Commodity Code 204-53** 

\$775.00

Admin/Teacher Recommended

Model Name, Number and Description	V8X10UP HP EliteOne 800G2 AIO i-5 All-in-One Non-Touch, 8GB RAM, Intel 6G Core i5- 6500
Operating System:	Windows 10 Home upgradable via Microsoft License Agreement
Processor:	Intel 6G Core i5-6500 3.2Ghz 6MB Cache
Memory:	8GB DDR4-2133 DIMM (1x8GB)
Hard Drive:	500GB 7200 RPM
Keyboard and Mouse:	USB Keyboard and Optical
Display:	23-inch diagonal widescreen antiglare LCD (nontouch)
HD Webcam	Integrated webcam
11-1 Media Card	Media Card Reader
Optical Drive:	Super Slim DVD-RW
Network:	Intel 10/100/1000, Intel 802.11ac + BT
Ports:	6- USB 3.0 1 - USB Type-C
Integrated Video:	Intel HD Graphics 530
Internal Integrated Audio:	Integrated stereo speakers
Warranty & Service:	3/3/3 NBD

Items Must be Included with the Purchase of this Computer (Required by IT)

Installation Cost Per Desktop (Commodity Code 920-31)
Microsoft Office for Windows (Commodity Code 208-80)

\$48.60 \$0.00

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

## **Desktop All-IN-ONE TOUCH SCREEN**

\*\*\*\*\*\*ONLY FOR APPROVED SPECIAL EDUCATION CLASSES\*\*\*\*\*

**Commodity Code 204-53** 

\$875.00

Model Name, Number and Description	V8X13UP HP EliteOne 800G2 AIO i-5 All-in-One Touch, 8GB RAM, Intel 6G Core i5-6500
Operating System:	Windows 10 Home upgradable via Microsoft License Agreement
Processor:	Intel Core 6G i5-6500 3.2Ghz 6MB Cache
Memory:	8GB DDR4-2133 DIMM (1x8GB)
Hard Drive:	500GB 7200 RPM
Keyboard and Mouse:	USB Keyboard and Optical Mouse
Display:	23-inch diagonal widescreen antiglare LCD (touch)
Optical Drive:	Super Slim DVD-RW
Network: Gigabit Ethernet	Intel 10/100/1000, Intel 802.11ac + BT
HD Webcam	Integrated webcam
11-1 Media Card	Media Card Reader
Ports:	6- USB 3.0 1 - USB Type-C
Integrated Video:	Intel HD Graphics 530
Internal Integrated Audio:	Integrated stereo speakers
Warranty & Service:	3/3/3 NBD

Items Must be Included with the Purchase of this Computer (Required by IT)

Installation Cost Per Desktop (Commodity Code 920-31)
Microsoft Office for Windows (Commodity Code 208-80)

\$48.60 \$0.00

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

#### **LAPTOP - 15.6"**

**Commodity Code 204-54 for Laptop** 

Description  i5-6200U, 8GB RAM, with battery, charger and case. T4D21UP#ABA Bundle#775761 and 898022  Battery Options  Standard 4-cell Lithium-Ion Battery, 6cell HP Long Life Lithium-Ion Battery (Optional), Secondary HP Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core  Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive:  Integrated SuperMulti Double Layer DVD+/-RW  Network:  Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth  4.2	Teacher/Admin Recommended  Model Name, Number &	HP PROBOOK 450 \$738.00 HP ProBook 450 G3 i-5, intel 6G
Battery Options  Battery Options  Standard 4-cell Lithium-Ion Battery, 6cell HP Long Life Lithium-Ion Battery (Optional), Secondary HP Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor: Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core Memory: 8GB DDR3-1600 DIMM (1x8GB)  Hard Drive; 500GB 7200RPM  Keyboard and Mouse: Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display: 15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2		·
Bundle#775761 and 898022  Battery Options  Standard 4-cell Lithium-Ion Battery, 6cell HP Long Life Lithium-Ion Battery (Optional), Secondary HP Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2		
Battery Options  Standard 4-cell Lithium-Ion Battery, 6cell HP Long Life Lithium-Ion Battery (Optional), Secondary HP Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2		
Life Lithium-Ion Battery (Optional), Secondary HP Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core  Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Battery Options	Standard 4-cell Lithium-Ion Battery, 6cell HP Long
Extended Life Notebook Battery (Optional)  Operating System:  Windows 7 Professional 64 bit  Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core  Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive:  Integrated SuperMulti Double Layer DVD+/-RW  Network:  Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	, .	
Processor:  Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core  Memory:  8GB DDR3-1600 DIMM (1x8GB)  Hard Drive;  500GB 7200RPM  Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive:  Integrated SuperMulti Double Layer DVD+/-RW  Network:  Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth  4.2		
Memory: 8GB DDR3-1600 DIMM (1x8GB)  Hard Drive; 500GB 7200RPM  Keyboard and Mouse: Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display: 15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Operating System:	Windows 7 Professional 64 bit
Hard Drive; 500GB 7200RPM  Keyboard and Mouse: Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display: 15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Processor:	Intel 6G Core i5-6200U 2.3Ghz – 2.8Ghz Dual Core
Keyboard and Mouse:  Spill Resistant Keyboard, Touchpad and USB Travel Mouse; MIL STD 810G tested  Display:  15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network:  Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Memory:	8GB DDR3-1600 DIMM (1x8GB)
Mouse; MIL STD 810G tested  Display: 15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth  4.2	Hard Drive;	500GB 7200RPM
Display: 15.6" Diagonal anti-glare LED-backlit HD 1366x768  Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Keyboard and Mouse:	Spill Resistant Keyboard, Touchpad and USB Travel
Optical Drive: Integrated SuperMulti Double Layer DVD+/-RW  Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth  4.2		Mouse; MIL STD 810G tested
Network: Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth 4.2	Display:	15.6" Diagonal anti-glare LED-backlit HD 1366x768
4.2	Optical Drive:	Integrated SuperMulti Double Layer DVD+/-RW
	Network:	Intel 10/100/1000, 802.11a/b/g/n/ac 2x2; Bluetooth
Ports: 2-USB 3.0. 2-USB 2.0. 1-HDML 1-VGA. 1-		4.2
	Ports:	2-USB 3.0, 2-USB 2.0, 1-HDMI, 1-VGA, 1-
headphone/microphone, 1-RJ45		headphone/microphone, 1-RJ45
Integrated Video: Intel HD Graphics 520		·
Internal Integrated Audio: Integrated stereo speakers	Internal Integrated Audio:	·
Warranty & Service: 3/3/3 NBD	•	
4 in1 Media Card Reader Media Cart Reader	4 in1 Media Card Reader	Media Cart Reader
Fingerprint Reader HP Fingerprint Sensor	Fingerprint Reader	HP Fingerprint Sensor
720p min. Web Camera 720p HD WebCam	720p min. Web Camera	720p HD WebCam
Dimensions (W x D x H) and Weight 14.88" x 10.11" x 1.07"	Dimensions (W x D x H) and Weight	14.88" x 10.11" x 1.07"
5.1 lbs	, , ,	
Available Cart Configurations Up to 24 devices - TCOREX24	Available Cart Configurations	Up to 24 devices - TCOREX24

#### Three Items Must be Included with the Purchase of this Computer (Required by IT)

Installation Cost Per Laptop (Commodity Code 920-31) \$48.60
Microsoft Office for Windows (Commodity Code 208-80) \$0.00

3yr.Computrace Complete (Commodity Code 208-80) \$76.00 (ONLY HP LAPTOP)

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

## LAPTOP - Ultralight-Ultrabook

# **Commodity Code 204-54 for Laptop**

	Option 2
Admin Recommended	
	\$847.00
Model Name, Number &	20F5S28700 – Lenovo ThinkPad X260
Description	Ultramobile, 12.5", Intel i5-6200U, 8GB RAM,
	with battery, charger, and case
Battery Options	6 Cell Li-Ion Battery 47WH Cylindrical Rear
Battery Options	o cen ci-ion battery 47 with cylindrical Near
Operating System:	Windows 7 Professional 64 preinstalled through
	downgrade rights in Windows 10 Pro
Processor:	Intel Core i5-6200U Processor (3MB Cache, up to
	2.80GHz)
Memory:	8GB DDR4-2133 SODIMM
Hard Drive;	500GB Hard Disk Drive, 7200rpm, 2.5", SATA3
Keyboard and Mouse:	UltraNav (TrackPoint and ClickPad) with
	Fingerprint Reader, Keyboard - English
Display:	12.5" HD(1366x768) Non-Touch
Optical Drive:	None
Network:	Intel Dual Band Wireless-AC(2x2) 8260, Bluetooth
	Version 4.1
Ports:	RJ45, Mini DisplayPort, HDMI, 3.5 mm Headphone
	/ Microphone, (3) USB 3.0
Integrated Video:	Intel HD Graphics 520
Internal Integrated Audio:	Dolby® Advanced Audio™ v2
Warranty & Service:	5Yr NBD Onsite
4 in1 Media Card Reader	4-in-1 Card Reader
Fingerprint Reader	Fingerprint Reader
720p min. Web Camera	720p HD Camera
Dimensions (W x D x H) and Weight	12.03" x 8.21" x 0.8"
	2.9 lbs
Available Cart Configurations	Up to 36 Devices
	TCOREX24 or TCOREX36

These Three Items Must be Included with the Purchase of this Computer (Required by IT)

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

## **LAPTOP – Student Rugged**

# **Commodity Code 204-54 for Laptop**

	Lenovo 11e 3 <sup>rd</sup> Gen
Student Recommended	\$316.73
Model Name, Number &	20G9S08G00 - ThinkPad 11e 3rd Gen, Intel N3150
<b>Description</b>	(1.60GHz, 2MB) 11.6 1366x768, Windows 10 Pro 64,
	4.0GB, 1x128GB SSD M.2, Intel Graphics Chipset, Intel
	7265 AC, 720p HD Camera, 3 Cell Li-Polymer, 3YR Onsite
	NBD
Battery Options	3 Cell Li-Polymer
Operating System:	Windows 10 Pro 64
Processor:	Intel N3150 (1.60GHz, 2MB)
Memory:	4GB DDR3L 1600 MHz
Hard Drive;	128GB SSD
Keyboard and Mouse:	UltraNav (TrackPoint), Keyboard - English
Display:	11.6" HD LED (1366x768)
Optical Drive:	None
Network:	Intel 7265 AC
Ports:	HDMI 1.4, USB 3.0, USB 2.0, 4-in-1, RJ-45
Integrated Video:	Intel Graphics Chipset
Internal Integrated Audio:	Dolby® Advanced Audio v2
Warranty & Service:	3Yr Onsite NBD
4 in1 Media Card Reader	Yes
Fingerprint Reader	No
720p min. Web Camera	720p HD webcam
Dimensions (W x D x H) and Weight	11.81" x 8.5" x 0.87" / 3.3 lbs
Available Cart Configurations	Up to 36 Devices   TCOREX24 or TCOREX36

### Three \* Items Must be Included with the Purchase of this Computer (Required by IT)

USB MOUSE ~ RECOMMENDED FOR PURCHASE for ELEMENTARY ~ SOLD SEPARATELY

*Installation Cost Per Laptop (Commodity Code 920-31)	\$48.60
* 3yr. DDS For Education Professional Computrace (Commodity Code (208-80)	\$40.25
USB MOUSE ~ RECOMMENDED FOR PURCHASE for ELEMENTARY ~ SOLD SEPARATELY	\$7.00
A418530 06P4069 LENOVO (FORMERLY IBM) - THINKPAD OPTIONS - 3BTN USB BLACK	
OPTICAL WHEEL MOUSE (Commodity Code (208-80)	

<sup>\*</sup>Microsoft Office for Windows (Commodity Code 208-80)

**PLEASE** be mindful of what you are purchasing and review your requisition carefully.

#### WIRELESS MOBILE LAPTOP CARTS



**24 Unit Configuration (Holds up to 24 devices)**PN: TCOREX24

#### Cart Only Price \$1,024.00

Laptops will need to be purchase separately

- This cart will hold <u>ALL HP and Lenovo laptops</u> that are listed on the SCS Price List.
- Cost of cart includes MS license, Ethernet Cable, Asset Tagging, Cart Installation, and Cart onsite delivery/setup



Bretford CoreX Charge/Store Cart

36 Unit Configuration

PN: TCOREX36

Cart Only Price \$1,109.00

Laptops will need to be purchase separately

- This cart will only hold Lenovo X260 and Lenovo 11e laptops that are listed on the SCS Price List.
- Cost of cart includes MS license, Ethernet Cable, Asset Tagging, Cart Installation, and Cart onsite delivery/setup